THE RENAISSANCE
OF MATHEMATICS

TARTAGLIA AND CARDAN

EMERGENCE

Tartaglia published his method for the solution of third degree equations
in the QUESTI in the form of a poem

When the cube with the things X3+ px
Is equal to any discrete number _
Find two numbers differing in this g=u—v
Then you will customarily take
Their product to be always equal uv =
To the cube of the third of the things exactly. 3
. (p/3)
Next the remainder as a general rule
Of their cubic roots properly subtracted 3/u —3/v
Will be equal to the principal thing. R R e N ="/}
In the second of these acts S SR ST e T e
When the cube remains alone xX°=px+q e e e e ——
You will observe these other contracts g=u-+vVv it SR
You will divide the number in two parts
Such that that the one times the other uv =
clearly produces
The cube of the third of the things exactly. (p/3)°
Next from this by an habitual rule
You extract the cubic roots added together 3/u +3/v
This sum will become your principal result.
Next the third of our calculations =X

Is solved with the second if you take care

3 __
Since by their nature they are almost linked. X rqg=px

Extract from "Quesiti et inventione diverse”, I have found these things not slowly
First edition(Venise, 1554). ; ;
Alcazar Library, Marseille. In one t:h ousand five hundred and ?h Ir ty four Translation into modern
With strong and sure foundations, algebraic language

In the city surrounded by the sea

English translation of the solution of equations 1 cube plus 3 things equals 10
of the third degree :
J Return to solve the equation
x3 + 3x = 10.

p=3andq=10
33
Letu—v=10anduv=(§) =1

Then we have u-v = 10 and
v=%|etu—%= 10
Then u is the solution of
u2- 10u-1=20

The value of the discriminant is 104
_H‘;‘#--And the positive solution of this equation
= IS :

u=v26+5 etdoncv =+v26-5

Thus a solution to the given problem is

X = YV26 +5— V26 — 5

1 cube and 6 positions are equal to 20

Return to solve the equation
x3 + 6x =20
After having raised 2, the third of 6, to the cube, we get 8
Multiply by 10, half of the number by itself, namely 100, join
100 & 8 to get 108

Take the root, which is V108 & use this precious result twice.
The first time add 10, half of the number

v108 + 10

The other time you diminish it by as much

v108 — 10

And you will get the Binomial and the Apotonomial,
Of these take the cube root and remove that which is that of
‘ive-Apotonomial, from that which is the Binomial.

V108 + 10 - 1/+/108 — 10

Extract from Artis magnae sive de regulis algebraicis You will have the estimation of the thing.
Alcazar Library, Marseille
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